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PIECEWISE FUNCTIONS

1. Graph the function

fie) = {

3—z2 ifz<1
3 — 4z if z>1


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OGivpEMcz1M6

° Watch Video Solution

2.1f |z — 3| = 2, find x.

° Watch Video Solution

3.Find all values of x for which |2z + 3| > 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_OGivpEMcz1M6
https://dl.doubtnut.com/l/_wrksf9hb0qyq
https://dl.doubtnut.com/l/_iUSMnZAgujUT

4. Given the graph of f(x) is shown below.

&2

o View Text Solution

5.If f(z) = |« + 1] — 1, what is the minimum

value of f(x) ?

o Watch Video Solution



https://dl.doubtnut.com/l/_E7SMJ0d2wFWD
https://dl.doubtnut.com/l/_XdIMsAyJrrwA

6. Five examples of greatest integer function

integer notation are:

o Watch Video Solution

7. Sketech the graph of f(x) = [x].

o Watch Video Solution

8. What —[@]
.What is the range of f(z) = —

o Watch Video Solution



https://dl.doubtnut.com/l/_sW2upaQ1cUEc
https://dl.doubtnut.com/l/_V0YZsghbdLIt
https://dl.doubtnut.com/l/_DPY5gXL0jbIB

1. |2z — 1| = 4z + 5 has how many numbers
in its solution set ?

A.O

B.1

C.2

D. an infinite number


https://dl.doubtnut.com/l/_DPY5gXL0jbIB
https://dl.doubtnut.com/l/_aYvd2geLJxUe

Answer: B

o Watch Video Solution

2. Which of the following is equivalent to

1<|x—2<47?

A3<z<6

Bx<lorazxz>3


https://dl.doubtnut.com/l/_aYvd2geLJxUe
https://dl.doubtnut.com/l/_oKIiAfNaG7Nu

Answer: D

o View Text Solution

3. The area bound by the relation
[z + |yl = 2is

A.8

B.1

C.2

D.4


https://dl.doubtnut.com/l/_oKIiAfNaG7Nu
https://dl.doubtnut.com/l/_ddjCmmlhiNWB

Answer: A

o Watch Video Solution

4. Given a function, f(x), such that f(x) = f(|x|).
Which one of the following could be the graph

of f(x) ?


https://dl.doubtnut.com/l/_ddjCmmlhiNWB
https://dl.doubtnut.com/l/_IAC0d2ubgVs6

Answer: N/A

o View Text Solution

5. The figure shows the graph of which one of

the following ?

Lo
Ay =2z — |z|
B.y= |z — 1|+«
Cy= |2z — 1

Dy=|z+1 — =


https://dl.doubtnut.com/l/_IAC0d2ubgVs6
https://dl.doubtnut.com/l/_oRZKucAJcZZw

Answer: B

o View Text Solution

6. The postal rate for first-class mail is 44 cents
for the first ounce or portion thereof and 17
cents for each additional ounce or portion
thereof up to 3.5 ounces. The cost of a 3.5-
ounce letter is 95 #. A formula for the cost in
cents of first-class postage for a letter

weighing N ounces (N < 3.5) is


https://dl.doubtnut.com/l/_oRZKucAJcZZw
https://dl.doubtnut.com/l/_qPn4JatGJFJ5

A4+ [N —-1]-17
B.[N — 44] - 17
C.44 + [N] - 17

D. none of the above

Answer: D

o Watch Video Solution

7. If f(x) = n , where n is an integer such that

n < x < n+ 1,therange of f(x) is


https://dl.doubtnut.com/l/_qPn4JatGJFJ5
https://dl.doubtnut.com/l/_dOrg3ZfG5wPc

A. the set of all real numbers

B. the set of all positive integers

C.the set of all integers

D. the set of all negative integers

Answer: C

o Watch Video Solution

8.If f(x) = [4x] — 2z with domain 0 < z < 2

, then f(x) can also be written as


https://dl.doubtnut.com/l/_dOrg3ZfG5wPc
https://dl.doubtnut.com/l/_jnzmmEahVTzk

A. 2Xx

B.—x

C.—2x

D. none of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jnzmmEahVTzk

